Geometry Name % Q(/f ID: 1

Angle Relationships: The Basics Da-g _ Hour

Directions: For all problems, you need to justify your set up. If Geometry is given, you will need to
show the geometrical SET UP to the question.

Find the measure of angle b.
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Find the value of x.
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Find the value of x.
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11) Find msCUV if m£TUV = 165° 12) mZRIK =4x + 8, msIJK = 14x — 1,
and mzTUC =97°. and mzIJR = 111°. Find x.
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Each figure shows a triangle with one of its angle bisectors. Show Geometry and justify your SET

UP!
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17) Find x if m«£ 1 =7x — 4 and
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